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201 Bt 30,000 0 30,000
03 A2 G| 30,000 0 30,000
OB S ATt It AA 30,000

20 ClIAel S EXYHE XHAY 242,500 0 242,500
N 194,000
& 14,550
= 33,950

307 QI2+0| & 242,500 0 242,500
Xl 194,000
& 14,550
= 33,950

02 Q2B AMAIE E =X 242,500 0 242,500
OZ0CI ke &XxHE XM 242,500
Xl 194,000
= 14,550
= 33,950

M2 AlEE2 559,000 0 559,000
Xl 200,000
= 359,000

401 Al HI L 2 0HHI 559,000 0 559,000
Xl 200,000
= 359,000

01 A& H| 559,000 0 559,000
QU&= A2 2 559,000
Xl 200,000
= 359,000

HE23 HsLH 103,500 91,500 12,000
o=t 3,600
= 99,900

SWilzdA X 12,000 12,000 0
307 2Iz2t0| & 12,000 12,000 0
02 QIZFE AAIE E X 12,000 12,000 0

Ognmilzd XA 12,000
-1 A 5,000,000& = 1JH 2 5,000
- = 3,500,000 * 1JHA 3,500
-3 oF 3,500,000& * 1JHA 3,500

sk MMM X 4,500 4,500 0]
307 QI2t0| ™ 4,500 4,500 0
02 QItF A ALY B X 4,500 4,500 0
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CEHAHI =R XS 18,000 18,000 0
== 3,600
= 14,400
307 2Iz2t0| A 18,000 18,000 0
o= 3,600
= 14,400
02 QIZHEAAIRE E X 18,000 18,000 0
OFEE4Hd3=2 s 6,000,000& * 302 18,000
& 3,600
= 14,400
HENE DAHSEY 41,000 41,000 0
307 2iztol & 41,000 41,000 0
02 QIZIA AAIE E X 41,000 41,000 0
OHEANE D29 N 41,000
HEANH ANEEX 10,000 0 10,000
402 SI2t X0l & 10,000 0 10,000
01 QAN SAIE E =X 10,000 0 10,000
OHY NS AlE B2 10,000
SSE23FAH 12,000 10,000 2,000
307 212t0| & 12,000 10,000 2,000
04 SIZ2ISHAAISHE E X 12,000 10,000 2,000
Ossas=AH 12,000
SO0A HE K& 3,000 3,000 0
307 2iz2to| & 3,000 3,000 0
04 SIZ2SHAAISH E & 3,000 3,000 0
OEQIA M & 3,000
AOFA HIE X 1,500 1,500 0
307 giztol A 1,500 1,500 0
04 CIZ2tSHALALS B = 1,500 1,500 0
OAOFA Ml & 1,500
SIA A ME X 1,500 1,500 0
307 2I2t0| ™ 1,500 1,500 0
04 CIZ2tSHALALSE B = 1,500 1,500 0]
O NA HME XA 1,500
234 E=FH| 2,621,562 1,665,174 956,388
= 870,660
J| 38,490
= 808,275
= 904,137
E3M S 2=3H| 2,190,720 1,283,000 907,720
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EXNE S 910,000 765,000 145,000
=) 455,000
= 455,000
207 O] 40,000 0 40,000
< 20,000
s 20,000
01 284 40,000 0 40,000
OdR+= FsNEEY 40,000
< 20,000
= 20,000
401 AIEHI L 2 CHYI 870,000 765,000 105,000
= 435,000
Ea 435,000
01 A€ HI 863,484 760,068 103,416
Onlgtetn == 397,120
=) 198,560
= 198,560
OFetetn 2= 79,280
= 39,640
[ia 39,640
O0fstd 2= 39,568
=) 19,784
= 19,784
OsUA B 129,064
< 64,532
[Ea 64,532
OSstAIXl LEAE 2= 138,992
=) 69,496
T 69,496
O¥3ESIA FHEHHI 59,460
=) 29,730
[ia 29,730
OXNZEsM 2118 B 20,000
& 10,000
= 10,000
03 AlE 2 THHI 6,516 4,932 1,584
Olsgn B4 2,880
= 1,440
[ia 1,440
OFetetn = 720
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OEtE E= 432
< 216
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EURLY
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EURLY
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01 AtR 2t 2l |

OEXNEEZ3 M LMEH =X 22

EUNL
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=ot&
M 23R BE=FHY|
t¢el: 23N S E=FH| CEERED)
SN EB S (3H) - NEAY - BES ol &k o8 ﬁlf& HD=2
== 34,000
= 34,000
01 A2t S AIE E =X 136,000 122,000 14,000
OMA A S THAIAE 170,000,000& * 80/100 136,000
= 68,000
= 34,000
= 34,000
23 E4Hd| 570,000 128,000 442,000
= 399,000
o= 85,500
= 85,500
401 Al HI L 2 0HHI 570,000 128,000 442,000
= 399,000
o= 85,500
iy 85,500
01 Al&HI 565,811 126,920 438,891
O3e HUZAMWA L 2HASEH B=H2
L HolE ME 235,790
= 165,053
= 35,369
= 35,368
OZAA AXHZ AL XA BE&He 47,073
= 32,951
& 7,061
= 7,061
odIIEsIHs B 282,948
= 198,064
= 42 442
= 42,442
03 Al 201 Y| 4,189 1,080 3,109
OuZe BUZADA % DESH 1,710
= 1,197
= 256
= 257
O2AA A X H 2 XHLEE T A 427
= 299
= 64
= 64
OodJlsit=s 2,052
= 1,436
& 308
= 308
23 Y AAIAE 2= 168,000 18,000 150,000
= 84,000
< 42,000
= 42,000
401 AlEHIZL 2 0HY| 168,000 0 168,000
= 84,000
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o 42,000
01 A& HI 166,488 0 166,488
O&aJIISI=s YSH X 83,244
= 41,622
< 20,811
[ia 20,811
OF&ellt &gl &2 83,244
= 41,622
< 20,811
e 20,811
03 A& =2 THHI 1,512 0 1,512
OZIIEI=2 AER2Ut 756
= 378
< 189
s 189
O&EelDIt A2 756
= 378
= 189
e 189
2 = S4HE JEI0E &4 20,000 0 20,000
< 10,000
= 10,000
207 Ao ] 20,000 0 20,000
< 10,000
s 10,000
01 289 20,000 0 20,000
OEXNZEZsMN S4B 3&IJE 4 20,000
< 10,000
s 10,000
23R Bs 2L 430,842 382,174 48,668
= 131,300
J| 38,490
< 82,595
[ia 178,457
SOIAL 2tel 5,350 5,350 0
201 et 4,350 4,350 0
01 At 22l 750 750 0
OSLA Bt =& 125,000& * 23] 250
ozelgs + 500
02 2324l 3,600 3,600 0
OZUA EIIAE S| 100,000& » 12& 1,200
OZFUAL W=Dl |XHI 300
SUAH HZH 350,000& = 6& 2,100
206 = Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
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I 2SR BE=FHH|
EHe: 23R4 ES 22| (e H)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OXSAHARI s KT 1,000
ZSSHAIE A 22 89,912 89,624 288
101 2121 H] 3,860 3,572 288
04 JI2tHIZ22NEE S 3,860 3,572 288
O23M =HEH oF2 48 2403 * 80Y 3,860
201 et d| 34,052 31,940 2,112
01 AR 22l ] 19,532 17,420 2,112
OZ2X25HH I HAARLER
100,000 = 20 & 200
OSBITHLTHAIA L HHHA222
150,000& = 6o & = 12& 10,800
OURANBL2ST Sg+2+2
600,000 = 20 A 1,200
OEYAIDNI 2axHE 110,000 = 23| 220
OS2 M ot =222 M
250 * 10,0008 * 2= 5,000
OEYAI NI ROHHIAAE KR XIH]
176,000 * 12& 2,112
02 2=2=24%4| 14,520 14,520 0
O23tMethE X122l 1,500,000 = 200 A 3,000
O&IIANAE KX 400,000& = 12&€ 4,800
OEYHANII-AolE=TAIES 2
100,000 * 12& 1,200
OsdYAlNII-Clg 4yl atg| A2 60,0008 = 12€ 720
OS2 HAIAB-MI|AlE R X b
300,000 ~ 12€ 3,600
OS2 HAIAB-OIHY a3 &S
50,000 * 2004 « 12€ 1,200
202 04d| 2,000 2,000 0
01 2L H| 2,000 2,000 0
O2stM2e|gR =& 2,000
401 AlEHIZL 201 Y| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
O=2SMAIEE B 50,000
3 E4g2tel 76,980 0 76,980
J| 38,490
& 19,245
= 19,245
307 2iz2to| A 76,980 0 76,980
J| 38,490
& 19,245
= 19,245
02 QIZ2FAAAIE E X 76,980 0 76,980
O23M Sg2elAY 76,980
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AM4DF==H YaZ=) d=28202UE 35,000 35,000 0
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O=&t| 2,000
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